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Il 14,766 15,436 2670
< 114,000 114,000 0
i 1,381,544 1,276,915 104,629
T3 & 43T =28 135,065 132,385 2,680
[ elal] 78,065 75,385 2,680
M IRINZZ2NSE+ 78,065 75,385 2,680
O S (EY, dH 24) 29 1Al 53,374 51,460 1,914
- QI21H] & 27,144,0002 27,144 26,100 1,044
- Q12| Z& 18,096,002 18,096 17,400 6%
-4 288 38 4,524,000 4,524 4,350 174
O a3aaAcld 2E 22X 22| 19,906 19,140 766
- QI21H| 23 18,006,000 18,09 17,400 6%
- 40 288 33 1,809,6002 1,810 1,740 70
SAXZN HIZALE 01&FH 14,766 15,436 AB70
2l 14,766 15,436 2670
206 MHZHI 14,766 15,436 2670
Il 14,766 15,436 2670
01 M=l 14,766 15,436 2670
O SAX=M HIgAIS 0lEA
38 14,766,0002 14,766 15,436 AB70
Il 14,766 15,436 AB70
SitE EY A (MRsY) 293 167,500 166,400 1,100
[ elal] 20,360 19,260 1,100
M IRINZZ2RNSE+ 20,360 19,260 1,100




AN SI|I=HEH
H: zEd DEF slIsEs
Helr 3¢ dsist Al 24 (St &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
O st EEAA JIFMZ22 2124 20,360 19,260 1,100
- Q12| 2% 18,400,000 18,400 17,400 1,000
- AU=2E ZZ 1,840,000 1,840 1,740 100
TAHSA 29 78,449 67,600 10,849
101 @124H| 36,549 35,400 1,149
04 JRHHZ2Z2REE S 36,549 35,400 1,149
O TS 2HEBX JI2ZHHMZ 2R o1
gl 33,069 31,920 1,149
-= dF 27,144,000 27,144 26,100 1,044
-4HEE ZE 2,714,400 2,715 2,610 105
206 =4I 24,200 14,500 9,700
01 XH=4l 24,200 14,500 9,700
O ZAHHLR M2 HE Y 24,200 14,500 9,700
- 4E 2 =58 e 7Y
Z & 9,000,000 9,000 4,500 4,500
- AleF 2 HEX RIE=8 s 7Y
Z3& 12,000,000 12,000 8,000 4,000
- HloldA FEE W 7Y
2 & 3,200,000 3,200 2,000 1,200
Zigtd RS04 s 24 506,530 496,530 10,000
201 L2 81,080 71,080 10,000
02 3323l 65,800 55,800 10,000
O ZEZRE0IME LA I |XIZ
= &3 56,800,000& 56,800 46,800 10,000
ZEd DS 2 S5 260,000 200,000 €0,000
401 AlEHIZL 2] 260,000 200,000 60,000
01 AlIZHI 260,000 200,000 60,000
O zedfldste 228d % 5=
2 & 260,000,000 260,000 200,000 60,000
H=E HY MHled ASXIEAY 20,000 0 20,000
401 AlIEHIZL 2 0HY| 20,000 0 20,000
01 Al&HI 20,000 0 20,000
O 2=8 YR XA AAEHEY
20,000,000+ 14! 20,000 0 20,000
ASAEE 28 2 2 82 2,315,254 2,197,012 118,242
ADIEY HAEHE nsd 2¢ 90,840 89,340 1,500
101 el24H| 20,840 19,340 1,500
04 JIRHNZ2Z2XSE+ 20,840 19,340 1,500
O HAEHE nsd 2¢ 20,840 19,340 1,500
- Q12| Z& 18,900,000& 18,900 17,400 1,500
A0E =58 Lsids AMEE 22 91,840 89,340 2,500
101 e124d| 21,840 19,340 2,500
M IRMZZ2RSES 21,840 19,340 2,500
O ANESY Wetds AISE 2 At 21,640 19,140 2,500
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LA SIS
u: g D23 s)|e2S
Hel: ASAEE 28 2 £ |82 (St &)
SN - B SRA(BH) - HPAY - BES 0l Ary ol 8 o HimE=ET
| - a2 A 19,900,002 19,900 17,400 2,500
2 32 Al 706,560 627,560 79,000
206 24| 314,000 254,000 60,000
01 W24l 314,000 254,000 60,000
O Z S2% 29X 7 220,000 160,000 60,000
- SR P 2AF 110,000,002 110,000 80,000 30,000
- H1043] HIHSUS A X3 7Y
10,000,00024%14! 10,000 0 10,000
- AKX Jt222 Z4 2R P(SISTH
) 20,000,00024 144 20,000 0 20,000
401 AlEHI L2 O] 39,000 20,000 19,000
04 BAIRIBIAI | 39,000 20,000 19,000
O Hls03| die Zelol ¢ 2 & &
23 19,000,002 19,000 20,000 1,000
O 2023 SYUESH A BE &3
20,000,00021 144 20,000 0 20,000
SBUEH 75,242 80,000 4,758
206 24| 28,000 30,000 2,000
01 W24l 28,000 30,000 £2,000
O Al 23 7 213 28,000,008 28,000 30,000 2,000
401 AlEHI L2 O] 47,242 50,000 ~2,758
04 BAIRIBIAIZH| 47,242 50,000 ~2,758
O MAl ZHE A% A 47,241,102 47,242 50,000 £2,758
@2 2 5K 832,860 792,860 40,000
206 24| 255,000 215,000 40,000
01 W28l 255,000 215,000 40,000
O HAl 2&H(3e=) 7
2F 140,000,002 140,000 100,000 40,000
WL ES (SAISHE) 183,924 24,419 164,505
ErE 183,924 24,419 164,505
2cH|erea 183,924 24,419 164,505
802 EHEr2DIEl 183,924 24,419 164,505
01 2nEXIeHe3 148,700 9,226 139,474
O 2019 52101 JIBAIAE ALEE| JfeX
2 AR 281 0I% 1,0002! 1 0 1
O 20192 =2 Q&S OHNRA2| APAIA
o 2 2,002 2 0 2
O 2019 014 D2 S AILTA 2EHY
JlE AEAY 28] Zazoy
5,750,002 5,750 0 5,750
O 202 ASAERXNAY 24| HT
o 9l 0| X} 34,305, 0002 34,305 0 34,305
O 222 BUSJs IsTH AN S
I A3 2 ZBDA
3,413,002 3,413 0 3,413




A sII=4dH
M WRS(sII=HH)
& BEEXE (CH9: &S1)
SA - BE - SRI(BH) - MRAR - BaS ol &t o H o HIDS2
O 2023 3d=sils Ss3% N3AAMY &8¢
2dH| =4| Y& 2,396,000& 2,3% 0 2,3%
O 2022 =AXL2I|IAE NAAE =4 &
SH ZtoH 474,000 474 0 474
O 20223 sEXNZAE(SEESE A2) 2
bl Zei&ton 2 0|kt 61,133,000& 61,133 0 61,133
02 Al - SHISEZBHES 40,224 15,193 25,031
O 2028 AsAHESXKNZAY Tl &
oS! Ol Xt 6,870,000 6,870 0 6,870
O 2024 XNASsE=S &)z A Est %
HAE CH| T 451,000 451 0 451
O 2029 3E=sils I3 N3AMY s
g X323 THl s
4,553,000& 4,553 0 4,553
O 202 3Esgel g230tel ANEAE =
Hl &t &kon 4,000 4 0 4
O 2022 =AXL2I|IAE NAAY SHl &
SH&HoH 95,000 % 0 %
O 202" sEXJAZ0F XIJAAS EH| ZE&t
o 9l OfXt 635,000 635 0 635
O 202 sEXNCML(SEIEE A2) &
gl &sRroH 558,000 558 0 558
O 20228 FE=sgosd ol N
3,016,0002 3,016 0 3,016
O 20229 zetd s NS o
(F4h) =H| Zaxol 409,000 409 0 409
O 20228 M 0ts MAHH 25 AlEAIY
CHl HeHEH 1,132,000& 1,132 0 1,132
O 2023 JAlzs dest 25 AMEAME
bl &t &tod 1,000& 1 0 1
O 20228 A4S JHE St SHAKY
ol HeH &y 6,397,000 6,397 0 6,397
O 20224 25t WSHEsE 22 AIEAY
CHl HeHEH 910,000& 910 0 910
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